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Instructions

® Use black ink or ball-point pen.

® Fill in the boxes at the top of this page with your name,
centre number and candidate number.

® Answer all questions.

® Answer the questions in the spaces provided

— there may be more space than you need.
® Calculators may be used.

Information

® The total mark for this paper is 100

® The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

® Questions labelled with an asterisk (*) are ones where the quality of your
written communication will be assessed.

Advice

® Read each question carefully before you start to answer it.
® Keep an eye on the time.

® Try to answer every question.

® Check your answers if you have time at the end.
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ABC is a right-angled triangle. AB =

: =18 cm
and BC =6 cm.
The line BD bisects the angle ABC.
A
Diagram NOT
accurately drawn
18 cm
D
X
B 5
6 cm
- (a) Write down the value of tan x. 3
- £
t ary B = ~—F\— = —7— = g .........................................
1
(b) Calculate the length BD. )
£y e fo)
xX= ken™'' 3 and <D = WS
From Yre Sine rulo,) 2D e B & _

ol BDC = 1RO- 4S - tan” 3 = 136-kan'3 = 034 (BsF)

s BV o &
i (EGK'B) ‘320 3¢~ tan 3)
| => BD = & ﬁﬁ(h&n" 3)
Sin (1357 tan %) 2626 o BsiF).
(5)
= 636 cm L"BS-[: 7
(Total 6 marks)
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2. Here is a right-angled triangle.

8cm

-

5.5cm

(a) Calculate the size of the angle marked x.
Give your answer correct to 1 decimal place.

Diagram NOT
accurately drawn

. 2 cos“(_‘i'ﬁ") . w6 6”7 (Mdp).
X

Here is another right-angled triangle.

40°

12cm

(b) Calculate the value of y.

Give your answer correct to 1 decimal place.

\.\.j'_:.
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L. ke wo? =

Diagram NOT
accurately drawn

tan ro” = _\Q_.
i

0. i cm (1d-p-)-

_ 10 .1 < m
3
(Total 6 marks)



10cm

POR is a right-angled triangle.

QOR=3cm
PR=10cm

Work out the size of angle RPQ.

Give your answer correct to 3 significant figures.

ban RPR) = .3
(O

Diagram NOT
accurately drawn
Q
3cm
R

-_—__> Rpf\Q - t&n" 0.3 - ”:?"’9 (3‘3? J
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(Total 3 marks)



Diagram NOT
accurately drawn

7 cm

&
B 8.5 cm

ABC is a right-angled triangle.
AB =17 cm,

BC=28.5 cm.

(a) Work out the area of the triangle.
(\(Qo\ OP tr\o\nélq, = _i A %0\3@ X HQAS’\L

= FXES _ 29-FS em”

£
SR
....... D“ 0'5 cm?
(2
(b) Work out the length of AC.
Give your answer correct to 2 decimal places.
AC = |3t +3F"
= 1ol em (2dp ).
-0 |
............................... cm
3)
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Y ]

r 48 mm

DEF is another right-angled triangle.
DE =32 mm,
FE =48 mm.

(c) Calculate the size of angle y.

Give your answer correct to | decimal place.

y= ban™ (}3_9:) - 33.7° (14 p.).

H¥
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32 mm

Diagram NOT
accurately drawn

%% =

3)

(Total 8 marks)



6 cm

16 cm

ABC is a right-angled triangle.
AC=6 cm.
BC=16 cm.

(a) Work out the area of triangle ABC.

Areo = ,_'i(lé,)({,): et

(b) Calculate the length of 4B.
Give your answer correct to 2 decimal places.

AR = J bt + (7
= 13.09 em (2-p-)
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Diagram NOT
accurately drawn

4+g .
............................. cim=
(2)

.......... '+. 09 ..
3)

(Total 5 marks)



58°
18 m

]
C

ABC is a right-angled triangle.
AC=18 m.
Angle CAB = 58°

Calculate the length of AB.

Give your answer correct to 3 significant figures.

AR = IE <OS $§°
= 954 m (35F)
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Diagram NOT
accurately drawn

9.5

(Total 3 marks)



@ Diagram NOT
accurately drawn

15 ¢m

1125
8 cm B

ABC is a triangle.
AB =8 cm
BC=15cm
Angle ABC = 112°

Calculate the area of the triangle.
Give your answer correct to 3 significant figures.

i
VA
v
a~
0
3r‘
P
o
W
™

(Total 3 marks)
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8. Town B is 4.6 km due West of town C.
Town 4 is 2.3 km due North of town B.

N
A
A Diagram NOT
accurately drawn
2.3 km N
X
B L C

4.6 km

(a) Calculate the size of the angle marked x.

Give your answer correct to 3 significant figures.

> = tan"(-1~3 ) = 266 (3sF ).
t- 6

R
3)
(b) Find the bearing of town C from town A.
Give your answer correct to 3 significant figures.
A~ A 9O = tG\r\'n(Q-B. )-a— 90
&G
/N
" 2]
(1)

(Total 4 marks)

o s 2490

NGB Alberadbe czmé)\&{) be k e Pd\ro&\q,l Linwes

N Qet&,%L -
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5cm

6 cm

ABC is a right-angled triangle.
AB =5 cm,
BC=6cm.

(a) Work out the area of the triangle.

[Area = 5(_..__é) = 1S e’
A

(b) Work out the length of AC.

Give your answer correct to 2 decimal places.

P\c = JW
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Diagram NOT
accurately drawn

" : JREES
................ 5 cm?
(2)
+- 8
............................... cm
3)



Diagram NOT
accurately drawn

32 mm

F 44 mm E

DEF is another right-angled triangle.
DE =32 mm,
FE =44 mm.

(c) Calculate the size of angle y.
Give your answer correct to | decimal place.

o= kan (32)

= 26.0° ld.pe-).

(Total 8 marks)
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10.

A
9m
1l m
15m
B
ABC is a triangle.
AB =11 m.
AC = 9 m,
BC=15m.

Calculate the size of angle BAC.
Give your answer correct to one decimal place.

Diagram NOT
accurately drawn

C osine Rule: A ol = b+t Lbeangp
a
= A= cos’ (l:?""cz-o\z
Lhbc

BFQ\C - cos™ [ 1FHAT- 1S )

2000)(9)

= wod L*Q‘B
195

[

9677 (1el-p-).
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(Total 3 marks)

li%g



11.

E
C 4 Diagram NOT
/ accurately drawn
i 19 cm
] 48 §
A=3cm—B D
AC=7cm.
AB=3cm.
DE=19¢cm.

Angle ABC = angle CBD = angle BDE = 90°.
Angle BDC = 48°.

(a) Calculate the length of CD.
Give your answer correct to 3 significant figures.

sinug’ = B<
< D
:__-—:> C;D — b@_(’;___ \,\]L\QA‘G, IBC: \l—'}_z- 31
Sing®

{
<
2
O

> ep = (B = S|em(3sF ).
={¥ale gy R K ]

.cm

(4)

(b) Calculate the length of CE.
Give your answer correct to 3 significant figures.

C oalne Cu: ot = P4+ 2% - 1b ccos A

> ce = [y i o () ees (1o49)

s ]‘Bc’ C M L’SSF )

&)
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12

B
Diagram NOT
accurately drawn
6.4 cm
(A
ABC is a right-angled triangle.
AC =9.6 cm.
BC=6.4 cm.

Calculate the size of the angle marked x°.
Give your answer correct to 1 decimal place.

cos . = b4

96

L4

= = cos” (£ 482 -

- g 2° (Td.p-). (Total 3 marks)

Lots more free papers at www.bland.in



Lots more free papers at www.bland.in

BLANK PAGE



